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sourceonSave | 4 S - #Run | °% 77 Source
Tibrary(arules)
par (family= "HirakakuProN-w3")
0w 77 =42 < read.csv("C:\\Users\\user\\OneDrive\\ F ¥ 2 A~ F\\O v 72.csv", header=TRUE, row.names=1)
Ow77—4
summary(d » 77 — %)
Oy 7 F30% 9930 <-as(Ay77-7%, "transactions")
summary(0 v 5 F 308753 0)
inspect(d v 7 F 3V H 73 0)

Co —J1 Oy i B I M B

9 itemFrequency(OD v 7 F3 ¥ 7L 3)
10 itemFrequencyPlot(0 v 7 + 3 ¥ 2 3, ylim=c(0, 1))
11
12 OozBRIL-J < apriori(0w 7 F5 V7030, parameter——
13 =Tist(max1en=20, supp=0.1, conf=0.8, ext=TRUE),appearance = list(rhs="F8=K%" default="1hs"))
14 dnspect(O v 7EBAIL-I)
15
16
17
18

=
Lo}



[15]
[16]

Ths rhs support confidence coverage
[1] _ {tH=EBKF=r5:} = LlAA=R=3 0 1359223 1,0000000 0,1359223 1,.907407 14
[2] {EHERIgEHE=11 7 —4., fAFEREH=A} => {fBi=f%*=1} 0.1262136 1.0000000 0.1262136 1.907407 13
[3] {x4F=v +, fHFEHRH=ME} = {58=F*7} 0.1262136 1.0000000 0.1262136 1.907407 13
[4] {E5=fFt, HBFHH=ALE} => {Ps87=[%%} 0.1359223 1.0000000 0.1359223 1.907407 14
[5] {¥k{=zozo~')>, X8FE=F12} => {}5Bi=Fs*} 0.1067961 0.8461538 0.1262136 1.613960 11
[6] {x4%F=" I, X8&F=RI*} - => {f#8=f%*1 0.1553398 0.8421053 0.1844660 1.606238 16
[71 {EHeFiglRE=T+1 FT—1L, X4&=" , BFHKIH=fm} => {[#Bi=f%%571 0.1165049 1.0000000 0.1165049 1.907407 12
[8] {F==fgt, HERGFEl=F« 7 — L, EFEXIH=FAR} => {[$B=[#%53} 0.1262136 1.0000000 0.1262136 1.907407 13
[9] {Fx5=fFt, x4F=" +, BFHH=AE} => {EB=1%3 0.1262136 1.0000000 0.1262136 1.907407 13
[10] {X1&E=[T, x4F=" -, X8FE=Fi=} => {}5Bi=Fs+} 0.1165049 0.8571429 0.1359223 1.634921 12
[11] {Giamierse=7 1 T —1y, X4&F=" b, X8&F=H1=F => 1I500=I% > F 0.1165049 0.8000000 0.1456311 1.525926 12
[12] {EX5=Ft, X4F="F, X8F=K12} => {[#B%=[%%3} 0.1456311 0.8333333 0.1747573 1.589506 15
[13] {Xx1&=[T, x4F=" t, X6&F=PH} => {}5Bi=Fs+3} 0.1165049 0.8000000 0.1456311 1.525926 12
[14] {Fx==fgh, HASkKEE=F1 7 -4, X4F=" F, BFHKH=AR} => {FEB=%5} 0.1165049 1.0000000 0.1165049 1.907407 12

(FE5=fFH, x1FE=[, x4FE="F, X8FE=F=}
{FS=teh, x1&FE=[F, xX4F=" |, X6F=FF}
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=> {B8i=}%1 0.1165049 0.8571429 0.1359223 1.634921 12
=> {B8i=}%+1 0.1165049 0.8000000 0.1456311 1.525926 12
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> BEEIL—Jl <- subset(Ow FHE5EIL—IL2, subset= (Ths %pin% "FFEI=F="))
> inspect(BESIL—IL)

Ths rhs support confidence coverage Tift count

[1] {ZFREF=5F172A+5} => {E=F%} 0.01941748 1.0000000 0.01941748 1.9074074 2

[2] {FRiEzF=PH%} => {EB=F%*} 0.01941748 0.6666667 0.02912621 1.2716049 2
[3] {FZcEEF=HF} => {[58i=F%5} 0.01941748 0.6666667 0.02912621 1.2716049 2
[4] {FeEEF=E} => {[8i=F+} 0.02912621 1.0000000 0.02912621 1.9074074 3
[5] {FZEE=F=0lll} => {[58i=F+} 0.02912621 0.7500000 0.03883495 1.4305556 3
(6] {E=:ipF=(rrF3 => {8I=#%3} 0.05825243 0.5454545 0.10679612 1.0404040 6
[7] {FeEF=MF} => {[58i=F+} 0.07766990 0.5000000 0.15533981 0.9537037 8
[8] {E&HFEEFF=AINTF2} = {FEB=F*5} 0.07766990 0.4705882 0.16504854 0.8976035 8

91 {FZExERF=)E5E} => {[%8i=F*} 0.08737864 0.5000000 0.17475728 0.9537037 9
[10] {EFEIzF=FEm} => {[58i=F+5} 0.07766990 0.4210526 0.18446602 0.8031189 8
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> BFEEIL—IL <= subset(U v IFSIL—J2, subset= (lhs %pin% “tEH="))
> inspect([ESIL—IL)
Ths rhs support confidence coverage 1ift count
[1] {liEH=RH} => {B8i=F%} 0.01941748 0.5000000 0.03883495 0.9537037 2
FPI{EH=Y => {FSAr=f% 9417
[3]1 {8EH=K} => {58F=5%} 0.10679612 0.6875000 0.15533981 1.3113426 11
[4] {lEH=X7} => {Bi=[#%} 0.08737864 0.5294118 0.16504854 1.0098039 9
[5] {liEH=%7} => {B8i=lF%} 0.07766990 0.4444444 (0.17475728° 0.8477366 8
[6] {lEH=H} => {I8=#%} 0.10679612 0.5500000 0.19417476 1.0490741 11
[7] {iEH=17} => {B8i=#%} 0.10679612 0.5500000 0.19417476 1.0490741 11
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> BESJL—IJL <- subset(d « FE=SIL—IL2, subset= (lhs %pin¥% "FE="))
> dinspect(iE=IL— L)
Ths rhs support confidence coverage Tift count
[1] {&5=fM7 => {fEBI=%*3} 0.03883495 0.6666667 0.05825243 1.2716049 4
[2] {&=fF+3} => {I5Bi=%*} 0.48543689 0.5154639 0.94174757 0.9831997 50
> BESJL—JL <- subset(d w FH=SIL— L2, subset= (lThs %pin% "IKE="))
> inspect(f#ESIL—IL)

Ths rhs support confidence coverage 1ift couni

[1] {¥S=F >+ F} => {MEBT=l%%3 0.01941748 1.0000000 0.01941748 1.9074074 2
[2] {EkETE=F1t SDF =} => {[#EBr=EE*=3} 0.01941748 0.6666667 0.02912621 1.2716049 2
[3] {EB="UL—F F—1.3 => {f#Br=%*3} 0.05825243 1.0000000 0.05825243 1.9074074 6

[4] {EkE\E=>FFrayPay? => {IEBT=E*-3 0.01941748 0.2500000 0.07766990 0.4768519 2
[5] {kTB=— 22374 —IL F} => {BE8r=0*3} 0.01941748 0.2222222 0.08737864 0.4238683 2

[6] {EkB\B=2FE/ 1)L} => {JSBT=f%*<1 0.04854369 0.5555556 0.08737864 1.0596708 &
[7] {¥kH\=zozo~<')}% => {lEBY=f5*3 0.29126214 0.5660377 0.51456311 1.0796646 30

> BB IL—IL <- subset(d » FEEEIL—IL2, subset= (lhs %pin% " &FAIEEFHEI=""))
> dinspect(f&=IL—JL)
Ths rhs support confidence coverage 1ift count
[1] {=&HEeFE=7—"7—4i.F => {f#Br=%%3} 0.1456311 0.5172414 0.2815534 0.986590 15
[2] {&F&BAMEEERE=0 1 5 — 4.3 => {B5Bi=l5*+3 0.3786408 0.5270270 0.7184466 1.005255 39
> BEIL—JL <- subset(d » FESJIL— )2, subset= (lThs %pin% "fBFIXE="))
> dnspect(iE=IL— L)

Ths rhs support confidence coverage 1ift count

[1] {FE=TkEH=f=743 => {fHEBET=[E*3 0.01941748 0.6666667 0.02912621 1.2716049 2
[2] {fB=TkEH=4B7 => {fHEr=F*3 0.01941748 0.6666667 0.02912621 1.2716049 2
[3] {fE=TkH=Fazl} => {fHBEUr=fE*3 0.13592233 1.0000000 0.13592233 1.9074074 14
[4] {tfE=F=TkEH=2FFX7F => {fHBr=5*3} 0.08737864 0.5625000 0.15533981 1.0729167 9
[5] {tfE=BkEH=H /.3 => {M5Br=fE*3} 0.04854369 0.2777778 0.17475728 0.5298354 §
[6]1 {fB=FTKHA=" 7 F/%73} => {IEB¥=fE*3} 0.05825243 0.3333333 0.17475728 0.6358025 6

[7] {FfE=BkHE== ' - =& 23} => {[EBr=*3} 0.12621359 0.6842105 0.18446602 1.3050682 13
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> BB IL—IL <- subset(O» FFESIL—IL2,
> inspect(i5IL—IL)

subset= (Ths %pin% "X1&E="))

Ths rhs support confidence coverage 1ift count
[1] {X1&E-= 7’;{1‘11} => [EB=F:%1 0.02912621 0.6000000 0.04854369 1.144444 3
[2] {X1FE==2F} => {FBi=f5*} 0.05825243 0.6666667 0.08737864 1.271605 6

: 0.10679612 0.6875000 0.15533981 1.311343 11
[4] {X1%E= H} => {[Br=5*3} 0.32038835 0.5593220 0.57281553 1.066855 33
> 5 IL—)L <- subset(d w75 IL—JL2, subset= (Ths %pin% "X2&F="))

> inspect(fESIL—IL)

Ths rhs support confidence coverage 1ift count
[1] {xX2&E=hlll} => {Bi=1%} 0.02912621 1.0000000 0.02912621 1.9074074 3
[2] {X2&=[F]} => {f5B=F*} 0.04854369 0.8333333 0.05825243 1.5895062 5
[3] {X2FE=AF} => {[GFBi=F%} 0.03883495 0.6666667 0.05825243 1.27/16049 4
[4] {X2FE=Ff~} => {Bi=0%%3} 0.03883495 0.4444444 0.08737864 0.8477366 4
[5] {X2F=F723} = {BBi=#S} 0.04854369 0.3846154 0.12621359 0.7336182 5
[6] {xX2&E:=/]I} => {EBi=#%3} 0.07766990 0.5714286 0.13592233 1.0899471 8
[7] {X2&E=FEE} => {B5Bi=#%3} 0.23300971 0.5106383 0.45631068 0.9739953 24
> BHBIL—IL <- subset(O» FESIL—IL2, subset= (Ths %pin% "X3&F="))
> inspect(BESIL—IL)
Ths rhs support confidence coverage 11ft count
[1] {X3TE=FEF} => {BEBi=#%3} 0.01941748 1.0000000 0.01941748 1.9074074 2
[2] {X3&E=4]l} => {B5Bi=#%3} 0.02912621 0.6000000 0.04854369 1.1444444 3
[3] {X3&E=3FF} => {[5Bi=#%3} 0.01941748 0.3333333 0.05825243 0.6358025 2
[4] {X3TE=FEE} => {B5Bi=#%3} 0.02912621 0.4285714 0.06796117 0.8174603 3
[5] {X3&E=" I} => {[Bi=#%3} 0.04854369 0.7142857 0.06796117 1.3624339 5
[6] {X3TE=1xFE} => {[EBi=#%3} 0.02912621 0.3333333 0.08737864 0.6358025 3
[7] {X3FE= ﬁatlﬂ} => {EBi=f#%3} 0.06796117 0.7000000 0.09708738 1.3351852 7
[8] {X3F==5Fr => {f58I=f#%} 0.09708738 0.5555556 0.17475728 1.0596708 10

(91

{){3%—1‘7;3} => {[8=055} 0.17475728 0.5294118 0.33009709 1.0098039 18



> BB IL—IL <- subset(O» FESIL—IL2,
> inspect(BE5SIL—IL)

Ths rhs support confidence coverage 1ift
[1] {x4F=03 => {fEBi=[%%} 0.02912621 0.4285714 0.06796117 0.8174603 3
[2] {X4FE=r50} => {F81=%} 0.03883495 0.4444444 0.08737864 0.8477366 4
[3] {x4F=" 1} —=>{BRI=F5*} 0.45631068 0.5595238 0.81553398 1.0672399 47
> BBIL—JL <- subset(Ow FHESIL—JL2, subset= (1hs %pin% "X5&F="))

subset= (Ths %pin% "X4&F="))

count

> inspect(fF5IL—JL)

[1]
(2]
[3]
[4]
[5]
[6]

Ths

{X5FE=F1F1}
{X5&FE=55}
{X5&F=1)I}
{X5&F=111}
(X5FE=AF}

=>
=>
=>
=>
=>

rhs
{fsE=+%}
{fsE=+%}
{fsE=+%}
{fsE=+%}
{BER=l5%3

support
0.01941748
0.03883495
0.02912621
0.03883495
0.09708738

confidence coverage

.0000000
.0000000
. 5000000
.4000000
. 5263158

"CJI'CJ"C)I—“I—1L

0.01941748
0.03883495
0.05825243
0.09708738
0.18446602

T1ift
1.9074074 2
1.9074074 4
0.9537037 3
0.7629630 4
1.0038986 10

count

IX5F =T s = LREAT 21359 0.6842105—-1T8446602 I.3050682 13

[7]

> ES5IL—IL <- subset(O»FE5IL—)L2,

{XS&E=1rHE}

=> {H%Ei@ %531 0.14563107 0.4838710 0.30097087 0.9229391 15

> inspect(BE5SIL—IL)

[1]
(2]
[3]
[4]
[5]
(6]
(7]
(8]
—[9]

Ths
{(xX6&E=thH}
(X6&E=F12}
(X6&FE=AT}
{(X6FH=55F}
{X6&E=[T]}
{X6&FE=_"LH}
{X6FHE=2%H}
{x6&FE=103
{X6&E={rFE}

rhs

=>
=>

support
=> {B5Bi=F5%53} 0.01941748
{B5BU=f%%T 0.01941748
{B5Br=f%%} 0.02912621
=> {B5Bi=F5%53} 0.01941748
=> {fEBT=[%$%13 0.02912621

confidence coverage

.6666667 0.02912621
.6666667 0.02912621
. 7500000 0.03883495
.4000000 0.04854369
.6000000 0.04854369

.2716049
.2716049
.4305556
. 7629630

subset= (Ths %pin% "X6&FE="))

1ift count

1444444

=> {B5Bi=F5%53} 0.03883495
=> {BsBi=F5%53} 0.02912621
=> {BsBr=f%53} 0.02912621
=> {F5Bi=f*1} 0.13592233

. 6666667
. 4285714
. 3000000

6363636

0.05825243
0.06796117

0.09708738
0.21359223

.2716049
.8174603
. 5722222

W ow B, RW MR

2138047 14

[10] {X6FE=F7T}

=> {fFEV=§F>} 0.14563107

. 5769231

0.25242718

1
1
1
0
1.
1
0
0
]
1

.1004274 15



> BB IL—J <- subset(O« FiEHIL—JL2,

> inspect(5IL—IL)

subset= (Ths %pin% "X7&="))

Ths rhs support confidence coverage 1ift count
[1] {X7&F=0%} = {BEB=F*%3} 0.01941748 0.6666667 0.02912621 1.2716049 2
[2] {X7F=07} => {F:Er=F%} 0.01941748 0.6666667 0.02912621 1.2716049 2
[3] {X7&F=]:I1} = {BB=5*31 0.01941748 0.5000000 0.03883495 0.9537037 2
[4] {(X7&E=FEF} => {H%Eﬁ:H%%} 0.02912621 0.5000000 0.05825243 0.9537037 3
[5] {X7&=1{Lk: = .09708738 0.8333333 0.11650485 1.5895062 10
ol IXr&=%H} = {H%ﬁﬁ 5531 0.05825243 0.4615385 0.12621359 0.8803419 6
[7] {X7&F=25F} => {FB=*1 0.10679612 0.6470588 0.16504854 1.2342048 11
[8] {X7&E= EPﬁ} => {fB=F*=7} 0.15533981 0.5333333 0.29126214 1.0172840 16
> EBIL—)L <- subset(d» FE5EIL—JL2, subset= (Ths %pin% "X8F="))
> inspect(ESIL—IL)
Ths rhs support confidence coverage Tift count
[1] {X8FE=LH} => {F:Ei=F*%} 0.01941748 0.5000000 0.03883495 0.9537037 2
[2] {X8FE=100} => {k:Br=F:%=} 0.02912621 0.5000000 0.05825243 0.9537037 3
[3] {X8F=/]3I1} => {BB=*31 0.02912621 0.3000000 0.09708738 0.5722222 3
[4] {X8F=FF1} => {EB=*31 0.03883495 0.4000000 0.09708738 0.7629630 4
[5] {X8FE=FH} => {F:Bi=k:%} 0.06796117 0.6363636 0.10679612 1.2138047 7
[6] {X8F=FRf~} => {BBi=k:=1 0.17475728 0.7826087 0.22330097 1.4927536 18
71T {X8FE=M+1+ => {E=E+1 0. 11650485 U 4615385 0.25242718 0.8803419 12
> EHBIL—J <- subset(O .« 75 —IL2, subset= (Ths %pin% "X9&F="))
> inspect(BE5IL—IL)
Ths rhs support confidence coverage 1ift count

[1] {X9FE="F1} => {BBi=l%} 0.02912621 0.6000000
[2] {X9&F=FIH} => {B1=5*3} 0.01941748 0.2857143
[3] {X9FE=FEF} = {H%ﬁicz H%%} 0.09708738 0.6666667
[4] {X9FE=:] 667

0.04854369 1.1444444 3
0.06796117 0.5449735 2
0.14563107 1.2716049 10
0_23_3_9_{;]_9_3'1 12716049 16

[5] {X9TE=F12} => {H%ﬁicz 551 0 16504854 u 4722222

0.34951456 0.9007202 17
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